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expenditure would be at dlfferent levds af
income. The aggregate consumption in the
cconomy can be found out from the
consumption expenditure of different
individuals purchasing commodities.

The quantity of the commoditics are ¢, 42 g, and the prices
dlhc-cuwmnlnmm’, Py P, Hence the ital comumption e x penditune
”

= LR =T Pq P Fo P Ypand € sk

inl awl

alunctionof (Pr.Po P Y SincequP Py P ¥, ) are homogeneous
i atollowsihe O, P, P ¥ hwillhe homageasous -

Scanned with CamScanner




s o

832024

1
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Weymesian Consimpfnn Furctinn b Migse gy

Thus, the aggregate consumption function
States that real consumption is a function of rea)
income and then the consumption function can
be written as C = ¢(Y) where C is real
consumption expenditure and Y is real national
income. This is the Keynesian Consumption
Function. The straight line consumption
function has a constant slope at all points. The
(MFC) marginal propensity to consume
decreases as income increases.

According to Keynes the consumption
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function must posscss the following

characteristics:
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stable function of real income.

(2) The marginal propensity to consume (MPC)
or the slope of the consumption function
defined as dc/dY must lie between zero and one
ie.0<MPC«<1.

(3) The average propensity to consume (APC) or

the proportion of income spent ~ox-cazmis A

dcﬂncd as C/Y should be decn
\creases. From the relahon bndwm mqr.a—-;a(
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These four charactenstics specily the shape of
the consumption function [t can be seen clearly
that, if we draw a straight line consumption
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§/3/2021 Keynesian Consumntion Function: A Clnea \ Nkl
(i) It represents a stable relationship between C
and Y.

(11) The slope of the line PQ represents the
marginal propensity to consume (MPC) which
has a positive slope. Again the consumption
function cuts the 45° line from above. This
means consumption function (PQ) is flatter
than the 45° line and its slope is less than 45°
line. The siope of PQ = MPC and the siope of the
45° line = tan 45° = 1. Thus, it satisfies the
second characteristic that o < MPC < 1.

(iii) But the average propensity to consume will
be different at different points of the

consumption function. For example, at point P,
C=OPand Y = 0, so that, APC = C/Y ='OP/O =

Q0.

It means at point'P, the APC 1s infinity ().
Again consider the point T where consumption
is TS and income is OS, so that, APC = TS/OS =
slope of OT = i. Thus, APC at point T is one. The
APC at any point on the consumption function

is slope of the line joining that point with the
origin. To the left of T, the AFC is greater than
one and to the right of T, AFC is less than one. It
means, to the left of the point T consumption is

greater than income i.e., C > Y, so that, APC =

CIY =1,

On the other hand, to the rigMMhs

consumption is less than mcowmeu P
that, APC = C/Y < 1. Thus, the A pe. olueat Lenriions a4

we move along the consumption @ex
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Keynesian ConSmption Funcion: A Close \iew

left to right. Since the average propensity to
consume (APC) decreases as income increases
the marginal propensity to consume (MPC)
must be less than the average propensity to
consume. Thus, the third characteristic is also

fulfilled by this straight line consumption
function.

Fourthly, if the consumption function is a
straight line the siope of the consumption
function is constant at all points, i.e. the

constant MPC satlsﬁes the fourth charactenstlc
‘ k r‘ " A

the consumptlon function has to be non-linear.
It will be concave to the horizontal axis. In other
words, the equation of a straight line linear
consumption function can be written as C = a +
bY, where a and b are constants. Let us also
assume thata >0ando<b<1andde/dY=b =
MPC. Since b > 0, the function is upward rising.
Again the APC = C/Y = a/Y + b. In this case,
C/Y will decrease as Y increases. So the APC =
C/Y = a/Y + de/dY = MPC + x. .-. APC > MPC.

These four characteristics of the consumption
function men itioned uy x\c_yut:a were not derived
from theoretlcal analysis or empirical evidence.
He derived these proportions from intuition.
Keynes called it a “fundamental
psychological law” that people do not spend

- the entire amount of the increase in incomeand

ﬁﬂveapartoflt.Thlsmeans 145 Warning Si
' ,(MPCI .
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